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	Double-Angle Formulas

	Hints:
	Re-write the angle as 2(x), where x is half the angle measure.
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	Power-Reducing Formulas

	Hints:
	Re-write the angle as 2(x), where x is half the angle measure.
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	Half-Angle Formulas

	Hints:
	Re-write the angle as u/2, where u is twice the angle measure.

The choice of + or – depends on the quadrant in which u/2 lies.

	
	
[image: image9.wmf]2

)

cos(

1

2

sin

u

u

-

±

=

÷

ø

ö

ç

è

æ


	
[image: image10.wmf]2

)

cos(

1

2

cos

u

u

+

±

=

÷

ø

ö

ç

è

æ



	
	
[image: image11.wmf])

sin(

)

cos(

1

2

tan

u

u

u

-

=

÷

ø

ö

ç

è

æ


	
[image: image12.wmf])

cos(

1

)

sin(

2

tan

u

u

u

+

=

÷

ø

ö

ç

è

æ



	

	Product-to-Sum Formulas

	Hints:
	Label one angle u and the other v. Substitution is easier that way.
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	Sum-to-Product Formulas

	Hints:
	Label one angle x and the other y. Substitution is easier that way.
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